intalg-2012-09-12-10am.notebook September 12, 2012

Study Tips from your classmates who made A's on the first test:

"l did all the problems assigned of the Ch. 2 review but did the hardest last so that | could have
more time and got someone to walk me through one of the problems before | did them alone."

"l studied by doing the review activities, learning what we have written down in class and
memorizing the structure of problems and formulas."

"l re-wrote my notes, and then made flash cards. | went over the review questions carefully and
went to math lab for help and extra practice."

"I completed the old test and chapter review on my own as much as possible. If | didn't
understand a certain kind of problem | attempted more problems of that style."

"l ran through all of my notes a few times, and after | was confident in my notes | started working
practice problems from sections I've been having trouble in."

"l first made sure | did my homework each week. | then answered questions of the old test."

"I worked through the review questions, used the back of the book to check my answers, then
reworked any problems | missed. | also went through my notes and studied all the terms | had
written down."
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A linear function is a function of the form f(x) = mx + bory = mx + b,
where m = slope = 2 _ 2271 44 the point (0, b) is the y-intercept, or

Ax Xo—Xq

the point where the graph of the function intersects the y-axis. The y-

intercept of any function is found by plugging 0 in for x (evaluating £ (0)).

y = mx + b is called the slope-intercept form of the equation of a line.

Ax + By = ( is the standard form of the equation of a line.

A horizontal line has an equation of the form y = b, where b is the y-

coordinate of every point on the line. A horizontal line has a slope of 0.

A vertical line has an equation of the form x = a, where a is the x-

coordinate of every point on the line. A vertical line has no slope.

The x-intercept(s) of any function are the point(s) (x, 0), found by

substituting 0 in place of y in the equation (setting f (x) = 0) and solving
for x.
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Sections 3-3-3.6 Linear Functions

fo/_iﬂ '> m
Point-slope formula:

y—y; = m(x — xqp)

Note that rearranged, this looks like:

N A |
m =
X — Xq

Parallel & Perpendicular Lines:

Two lines with slopes m4 and m, are
parallelif and only if ™ , = M,

*All vertical lines are parallel.

Two lines with slopes m; and m, are
perpendicularif and only if Y =~ M2

September 12, 2012

Recall:

Slope-intercept equation:
y=mx+b>b

Standard Equation:
Ax+By=C

_
m22M|

*Vertical lines are perpendicular to ﬂeg‘ﬁ WE ‘(e(-‘?ro 5

horizontal lines
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Find the slope-intercept (y=mx+b) equation of the line

M KoY
1. slope 2 ; passing through (3,7)

3-5.-"\<x-><«)
yF=2(x-3
y-F=2wx -0

3=.’2x+ﬂ

X1 Y.
2. passes through (-5, 2)&(6 )

m=J29 _=l=2
XX,
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3. Given the line y=4x+3, find the equation of a line parallel to this that
passes through (4, 1).

(xo)=(t,) 5 m=1
3-3.=m(x—><,>
Y=l=4(x-1)
y-1=tx-lb

[j“l—x-—l‘?}]

4. Given the line y=-3x+7, find the equation of a line perpendicular to it
that passes through (5,-8).

(%Y= (5f® 5 M= '\3‘,
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Find the equation of the line:

5. Passes through (-7, 6) ; no sIope%Vﬂ‘h’(a[ (me_

X= -7

6. Passes through (43, -269) ; slope 0 ?hﬁ('\u(\“'ag
3 = “2‘00‘

Are the two lines parallel, perpendicular, or neither?
3.6

4.y_=%; y=—4 pam(\e.\ (oot hoﬁm‘a&)

10.y:1x+§ ; y:—1x+% r\Cl"\'\ef

2 2 2

14.4x -3y =2 ; 4x+3y=—7

“3yz-txrZ 33 P 2 Neithel
"IXTF 5‘3

20. (3,5)&(—33) ; (2,—5)&(—4,4) 4
M= 5-3 M= ==

P 573 26D flerthel
-2 _ | -1l —=

6 3 b 2
8. (-1,,(3,%) 6')3);("*,0
M= 2-F M= 31
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Homework:
3.3 #12-20 find the slope of a line
3.4 #38-41 graph a line using the slope
3.5 #15-26 find equation given a point and the slope
#42-50 find equation given two points
3.6 #3-20 determine if two lines are parallel, perpendicular, or neither

#21-26 find equation of parallel / perpendicular lines

Quiz Friday on Linear Functions!
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